

KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.33323 I.D No
3	Tender Description/Name of Work/Item:	EMERGENT REPAIR OF LEAKAGES ON 36" DIA M.S PIPE INTERCONNECTION OF K-II RISING MAIN AT N.E.K & 48" DIA / LEAKAGES ON PRCC PIPE
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	2 Nos
7	Total Bid Received:	2 Nos
8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	12-06-2017

12 BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1	M/s.N.K Builders	Rs.8,79,073/-	I st Lowest	@1.844% Above	Pay Order and required documents are available. P.O # 17926261 dt:09-06-2017 Rs.17.600/-from HBL Karsaz Branch Karachi	Substantially Responsive
2	M/s.Siddiqui Brothers & Co.	Rs.8,79,880/-	2 nd Lowest	@1.938% Above	Pay Order and required documents are available. P.O # 18319174 dt:09-06-2017 Rs.17,600/-from HBL KDA Civic Centre Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.N.K Builders declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Riaz Khalid Bajwa) Accounts Officer (B.T)

Member / Secretary

(Abdul Relman Shaikh) S.E (Bulk Water Supply) Members (Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh)
Superintending Engineer (KMC)
Member

(Saleem Ahmed)

Director (Design & Estimate)

Convener

COMPARATIVE STATEMENT

Name of Work: EMERGENT REPAIR OF LEAKAGES ON 36" DIA M.S PIPE INTERCONNECTION OF K-II RISING MAIN AT N.E.K & 48" DIA / LEAKAGES ON PRCC PIPE

S.No	Description of Work			Estimated	Cost		M/s.N.K Builders		M/s.Siddiqui Brothers & Co.	
		Quant	ity	Rate	Per	Amount	Rate	Amount	Rate	Amount
	Excavation for pipe line in trenches and pits in Wet Soil									
	clay or mud i/c trimming and dressing sides to true									
	alignment and shape leveling of beds of trenches to									
	correct level and grade, cutting joints, holes and									
	disposal of surplus earth within one chain as directed by									
	Engineer Incharge providing fence guards, lights, flags									
	sand temporary crossing for non-vehicular traffic									
	wherever required lift upto 5 ft and lead upto one chain.									
	a) Lift upto 5-0 ft	1200.00	Cft	5400.00	%0Cft	6,480.00	5400.00	6,480.00	5410.00	6,492.00
2	b) Add for additional lift of every 3 feet (5'-8')	559.35	Cft	5950.00	%0Cft	3,328.13	5950.00	3,328.13	5960.00	3,333.73
3	c) Add for additional lift of every 3 feet (8'-11')	308.70	Cft	6500.00	%0Cft	2,006.55	6500.00	2,006.55	6510.00	2,009.64
4	Full hire charges pumping set per day inclusive of									
	wages of driver, assistant or electric energy plate for									
	required for placing pump set at lower depth with									
	suction and delivery pipes for pumping out water found									
	at various depth from trenches i/c the cost of errection									
	and dismantling after completion of the job. Hire									
	charges of pumping set of upto 10 HP pumping out									
	water from 10 feet depth trench.	40.00	Days	1500.00	P/Day	60,000.00	1500.00	60,000.00	1505.00	60,200.00
5	Gas Cutter for removing of rusted / corroded M.S Pipe.	6.00	Days	2365.00	P/Day	14,190.00	2360.00	14,160.00	2365.00	14,190.00
6	Welding plant.	48.00	Hour	2500.00	P/Hrs	120,000.00	2750.00	132,000.00	2751.00	132,048.00
7	Welder (1st Class)	6.00	Days	400.00	P/Day	2,400.00	440.00	2,640.00	445.00	2,670.00
8	Fabricator	6.00	Days	400.00	P/day	2,400.00	440.00	2,640.00	445.00	2,670.00
9	Beldar	18.00	Nos	250.00	Each	4,500.00	275.00	4,950.00	280.00	5,040.00
10	Welding Rod	500.00	Nos	10.00	Each	5,000.00	11.00	5,500.00	11.50	5,750.00
11	M.S Plate	61.57	Kgs	85.00	P/Kg	5,233.45	93.50	5,756.80	94.00	5,787.58

a Th

(2/08/1)

COMPARATIVE STATEMENT

Name of Work: EMERGENT REPAIR OF LEAKAGES ON 36" DIA M.S PIPE INTERCONNECTION OF K-II RISING MAIN AT N.E.K & 48" DIA / LEAKAGES ON PRCC PIPE

S.No	Description of Work		Estimated Cost					M/s.N.K Builders		M/s.Siddiqui Brothers & Co.	
		Quant	ity	Rate	Per	Amount	Rate	Amount	Rate	Amount	
12	Leakages on 48" dia PRCC Pipe Trunk Main Line (External vatta) i/c Excavation, de-watering, sealing material, labour, back filling etc.	17.00	Nos	35821.00	Each	608,957.00	35821.00	608,957.00	35825.00	609,025.00	
13	Refilling the excavated stuff in trench 6" thick layer i/c watering ramming to full compaction etc.	1034.02	Cft	2760.00	%0Cft	2,853.90	2760.00	2,853.90	2760.00	2,853.90	
14	Sand Haro or any other source sand of same modules of the fineness (Hill Sand)	822.07	Cft	2425.00	%Cft	19,935.20	2667.50	21,928.72	2668.00	21,932.83	
15	Carriage of 100 Cft / 5 Tons of all material like stone aggregate, spawl, cool, lime, surkhi etc. B.G rail fastening points and crossing bridge, girder pipes, sheets of tiles M.S Bar etc or 1000 Nos of bricks 10x5x3 of 1000 Nos of tiles 12"x6"x2" or 150 Cft of timber or 100 mounds of fuel wood by truck or any other means owned by the contractor (5 miles lead).	822.07	Cft	714.29	%Cft	5,871.96	714.25	5,871.63	715.00	5,877.80	
	TOTAL QUOTED / CORRECTED COST	022.07		717.27		863,156	71 (445)	879,073	712.00	879,880	

(Riaz Khalid Bajwa) Accounts Officer (B.T) Member / Secretary

(Saif-ul-Haque) Addl. Director Internal Audit KMC - Member (Maqsood Ahmed Shaikh) Superintending Engineer (K.M.C) Member (Abdul Rehman Shaikh) S.E (Bulk Water Supply) Member

(Saleem Ahmed) / E Director (Design & Estimate) Convener

ATTENDANCE SHEET

FIRMS / CONTRACTORS

NAME OF WORK

EMERGENT REPAIR OF LEAKAGES ON 36" DIA MS PIPE INTERCONNECTION OF K-III RISING MAIN AT NEK & 48" DIA LEAKAGES ON PRCC PIPE.

Date of Opening 12-06-2017

Time of Opening 11:30 PM

Serial No.

33323

NAME OF FIRMS S NO. NAME OF CONTRACTOR Or Amix James Siddiffi Brothers des Farmes

NIT No. SPPRA Serial No.33323

Method of Procurement: Single Stage Single Envelope.

Name of Work: EMERGENT REPAIR OF LEAKAGES ON 36" DIA M.S PIPE

INTERCONNECTION OF K-II RISING MAIN AT N.E.K & 48"

DIA / LEAKAGES ON PRCC PIPE

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 12-06-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders. (Attendance sheet is enclosed).

- 2. Two bidders submitted their bids till the deadline of submission.
 - i. M/s. N.K Builders
 - ii. M/s.Siddiqui Brothers & Co.
- The bids were opened at 11:30 A.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security				
01	M/s.N.K Builders	Rs.8,79,075/-	Rs.17,600/-	P.O # 17926261 dt:09-06-2017 from HBL Karsaz Branch Karachi			
02	M/s.Siddiqui Brothers & Co.	Rs.8,79,881/-	Rs.17,600/-	P.O # 18319174 dt:09-06-2017 from HBL KDA Civic Centre Branch Karachi			

- The bids do not contain any cutting or overwriting.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Riaz Khalid Bajwa) Accounts Officer (B.T) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Abdul Rohman Shaikh) S.E (Bulk Water Supply) Members

Director (Design & Estimate)

Convener

7 - NIT No.SPPRA Serial No.33323

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

EMERGENT REPAIR OF LEAKAGES ON 36" DIA M.S PIPE

INTERCONNECTION OF K-II RISING MAIN AT N.E.K &

48" DIA / LEAKAGES ON PRCC PIPE

Date of Opening:

12-06-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.		Bidders' Name				
No.	Eligibility / Qualification Criteria	M/s.N.K Builders	M/s.Siddiqui Brothers & Co			
1.	Registration with PEC (if applicable)	N/A	N/A			
2.	NTN	Yes	Yes			
3.	Sales Tax Registration (FBR)	N/A	N/A			
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes			
	Qualification Criteria:					
5.	Minimum three years' experience of relevant field.	Yes	Yes			
6.	Turnover of at least last three years	Yes	Yes			
7.	Required Bid Security is attached.	Yes	Yes			
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes			
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A			
10.	Qualified/ disqualified	Qualified	Qualified			

(Riaz Khalid Bajwa) Accounts Officer (B.T) Member / Secretary

(Abdul Rehman Shaikh) S.E (Bulk Water Supply)

Members

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Saleem Ahmed) / L Director (Design & Estimate)

Convener